


         

B.Com. DEGREE EXAMINATION – 
JANUARY 2009.

Third Year
(AY 2003–04 and CY 2004 batches only)
Commerce
MANAGEMENT ACCOUNTING

Time : 3 hours
Maximum marks : 75

Answer for 5 marks question should not exceed 
2 pages.

Answer for 15 marks questions should not exceed 
5 pages.

SECTION A — (3 ( 5 = 15 marks)

Answer any THREE questions.

1. What are financial statements? Discuss the nature of financial statements.

{v {ø» AÔUøPPÒ GßÓõÀ GßÚ? {v {ø» AÔUøPPÎß ußø© £ØÔ ÂÁõv.
2. Explain the advantages of Marginal Costing.

CÖv {ø»a ö\»Ä •øÓ°ÚõÀ HØ£k® |ßø©PøÍ ÂÍUSP.
3. What is meant by Budgeting?

ÁµÄ ö\»Ä vmhªkuÀ GßÓõÀ GßÚ?
4. Calculate gross profit ratio and stock turnover ratio from the following figures :

	
	Rs.

	Sales
	1,00,000

	Sales return
	10,000

	Opening stock
	20,000

	Purchases
	60,000

	Purchases returns
	15,000

	Closing stock
	5,000


RÌUPõq® ÂÁµ[PÎ¼¸¢x ö©õzu C»õ£ ÂQu® ©ØÖ® \µUQ¸¨¦ _ÇØ] ÂQu® BQ¯ÁØøÓU PnUQkP.

	
	¹.

	ÂØ£øÚ
	1,00,000

	ÂØ£øÚ v¸¨£®
	10,000

	Bµ®£ \µUQ¸¨¦
	20,000

	öPõÒ•uÀ
	60,000

	öPõÒ•uÀ v¸¨£®
	15,000

	CÖva \µUQ¸¨¦
	5,000


5.  A Project requires an initial investment of 
Rs. 10,000 and the annual inflows for 5 years are 
Rs. 3,000 ; Rs. 4,000 ; Rs. 2,500 ; Rs. 2,000 and Rs. 2,000 respectively. Calculate the Pay back period.

¤ßÁ¸® J¸ vmhzvß Bµ®£ •u½k ¹. 10,000 BS®. {ºn°UP¨£mh uµ v¸®£¨ ö£Ö® Põ» AÍÄ 5 BskPÒ •øÓ÷¯ ¹. 3,000 ; ¹. 4,000 ; ¹. 2,500 ; 
¹. 2,000 ©ØÖ® ¹. 2,000 v¸®£¨ ö£Ö® Põ» AÍøÁU PnUQkP.
SECTION B — (4 × 15 = 60 marks)

Answer any FOUR questions.

6. Differentiate between Management Accounting and Cost Accounting.

÷©»õsø© PnUQ¯ø» AhUPÂø»U PnUQ¯¼¼¸¢x ÷ÁÖ£kzvU PõmkP.
7. What factors influence the capital expenditure decisions?

‰»uÚ ö\»Ä •iöÁkzuø» {ºn°US® PõµoPÒ ¯õøÁ?
8. From the following balance sheets, prepare a funds flow statement :

	Liabilities
	2002
	
	2003
	Assets
	2002
	
	2003

	
	Rs.
	
	Rs.
	
	Rs.
	
	Rs.

	Share capital
	2,00,000
	
	2,87,500
	Plant
	37,500
	
	50,000

	Creditors
	53,000
	
	35,000
	Stock
	60,500
	
	68,000

	Profit & Loss A/c
	7,000
	
	15,500
	Debtors
	90,500
	
	85,000

	
	
	
	
	Cash
	71,500
	
	1,35,000

	
	2,60,000
	
	3,38,000
	
	2,60,000
	
	3,38,000


¤ßÁ¸®  C¸¨¦ {ø»U SÔ¨¦PÎ¼¸¢x {vKmh AÔUøPø¯z u¯õº ö\´P.

	ö£õÖ¨¦PÒ
	2002
	
	2003
	ö\õzxUPÒ
	2002
	
	2003

	
	¹.
	
	¹.
	
	¹.
	
	¹.

	£[S •uÀ
	2,00,000
	
	2,87,500
	ö£õÔ
	37,500
	
	50,000

	PhÜ¢÷uõºPÒ
	53,000
	
	35,000
	\µUQ¸¨¦
	60,500
	
	68,000

	C»õ£ |mh P/S
	7,000
	
	15,500
	PhÚõÎPÒ
	90,500
	
	85,000

	
	
	
	
	öµõUP®
	71,500
	
	1,35,000

	
	2,60,000
	
	3,38,000
	
	2,60,000
	
	3,38,000


9. The records of a company show the following :

	Period
	Sales
	Profit

	
	Rs.
	Rs.

	I
	1,20,000
	9,000

	II
	1,40,000
	13,000


Find out :

(a)
P/V Ratio

(b)
BEP (Sales)

(c)
Profit when sales are Rs. 1,00,000

(d)
Sales required to earn profit Rs. 20,000.

J¸ {Ö©zvß HkPÒ ¤ßÁ¸ÁÚÁØøÓU PõmkQßÓÚ.

	Põ»®
	ÂØ£øÚ
	C»õ£®

	
	¹.
	¹.

	I
	1,20,000
	9,000

	II
	1,40,000
	13,000


PnUQkP :

(A)
C»õ£ / AÍÄ ÂQu®
(B)
\›\©¨ ¦ÒÎ
(C)
ÂØ£øÚ ¹. 1,00,000 BP C¸US® ÷£õx C»õ£®
(D)
¹. 20,000 C»õ£zvØPõÚ ÂØ£øÚ.


10. With the following data for 60% activity, prepare a budget for production at 80% and 100% activity. Production at 60% activity = 600 units.

	Materials
	Rs. 100 per unit

	Labour
	Rs. 40 per unit

	Expenses
	Rs. 10 per unit

	Factory Expenses
	Rs. 40,000 (40% fixed)

	Administrative Expenses
	Rs. 30,000 (60% fixed)


60% ö\¯ÀvÓß Ai¨£øh¯õÚ RÌUPõq® Â£µ[PÎ¼¸¢x, 80% ©ØÖ® 100% ö\¯ÀvÓÝUPõÚ Kº EØ£zv ÁµÄ–ö\»Ä vmh AÔUøP°øÚ u¯õ›UP.

60% ö\¯ÀvÓÝUPõÚ EØ£zv = 600 A»SPÒ.

	‰»¨ö£õ¸mPÒ
	¹. 100 (A»S JßÖUS)

	BmPÒ T¼
	¹. 40 (A»S JßÖUS)

	Cuµ ö\»ÄPÒ
	¹. 10 (A»S JßÖUS)

	öuõÈØ\õø» ö\»ÄPÒ
	¹. 40,000 (40% {ø»¯õÚx) 

	{ºÁõPa ö\»ÄPÒ
	¹. 30,000 (60% {ø»¯õÚx)


11. Calculate debtors Turnover Ratio and the average collection period from the following particulars :

	
	Rs.

	Total Gross sales
	1,00,000

	Cash sales
	20,000

	Sales returns
	7,000

	Total debtors on 31.12.2005
	9,000

	Bills receivable (31.12.2005)
	2,000

	Provision for doubtful debts
	1,000


RÌUPõq® ÂÁµ[PÎ¼¸¢x, PhÚõÎ _ÇØ] ÂQu® ©ØÖ® \µõ\› Á`À Põ»zøuU PnUQkP.

	
	¹.

	ö©õzu ÂØ£øÚ
	1,00,000

	öµõUP ÂØ£øÚ
	20,000

	ÂØ£øÚz v¸¨£®
	7,000

	31.12.2005 –À ö©õzu PhÚõÎPÒ
	9,000

	31.12.2005 –À ÁµÄ ©õØÖa ^mk
	2,000

	ÁµõUPhß Põ¨¦
	1,000


12. A company is considering a proposal for the investment of Rs. 5,00,000 on product development. Net cash flows for 6 years as under :

	Year
	Net cash flows (‘000)
	Present value factors @ 15% p.a.

	1
	–
	0.87

	2
	100
	0.76

	3
	160
	0.66

	4
	240
	0.57

	5
	300
	0.50

	6
	600
	0.43


Decide if the proposal can be accepted or not.

Kº {ÖÁÚzvß EØ£zv vmhzvØS ÷uøÁ¯õÚ •u½k ¹. 5,00,000 Gvº£õºUP¨£k® {Pµ öµõUP Kmh®   BÖÁ¸h[PÐUPõÚx ¤ßÁ¸©õÖ.

	Á¸h[PÒ
	{Pµ öµõUP Kmh® 
( ¹. ‘000 À)
	15% CßøÓ¯ ©v¨¦

	1
	–
	0.87

	2
	100
	0.76

	3
	160
	0.66

	4
	240
	0.57

	5
	300
	0.50

	6
	600
	0.43


Czvmhzøu HØP •i²©õ AÀ»x CÀø»¯õ GßÖ •iÄ ö\´P.
————————
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